Yy P E ERELE 2014 B AR E R T http://toitemita.sakura.ne.jp

51. 2 ARDiIThiC L % EiIES)

SR M ER & HiRE)
HREN I M ER) 2 L DB SO EE) & B B Py U7 #E s & e 5,
EE M EE) B {RE)
— — —
Ry ISR E a
V=rwcos ot
------------- (o)
a=—-rw? sin ot
_______________ \ 4

X =7 sin ot EEH

[ERHIIE B8N r 005 IR P ) A B RIS T2 &,
NEfE : x=rsinwt

FIANEAR (R FLEBIBHLARE (1=0) OME) BRe/biE, x=rsin(orf+¢)
HEE . v=rocoswt

HIINCFAAS @ 72 DX, v =rocos(wt + ¢)

NEFE © a=—ro® sinwt =-w’x

WA @ 72 HIE, a=—rw? sin(of + ¢)= -0’ x
I B, HIRE L TS WIRDALE, HE, IERETH D,
W, IREN OIS, BIRE) L TODWEROIRE I b <A B HVE I METH D,



Yy P E ERELE 2014 B AR E R T http://toitemita.sakura.ne.jp

mhR
“AEBOMy EFERERL D,
VIR Z o, AEE (AIREER) 2o &T5L,

x = rsin(wt + )

V= % = % (rsin(wt + @)= ro cos(wt + )
2
a :% = %(%] = % :%(ra) cos(a)t + go))z —ro’ sin(a)t + (p)z —0’x

)
REVP O x =0, RIEa OHIRBIZ G, P (1=0 DL DM 2ol T 5L,
x = asin(ot + @)
v=awcos(ot + ¢)
1=0DLE, x=0, v==awlZhb,

x=asinp=0, v=awcosp=aw £V, sinp=0, cosp=1

LT, =0
E77, =00 LOEMITEFATEND, 0>0
DR AT,
X =asin wt (a)>0) < e (B
v=awcosat (0>0) -+ (&)

()

a =—-aw? sin ot
=—@’ -asinwt
=—0’x (&)

£,

WE P ZIE7= 6 < KEFmOAN I OF, Tbb 2 oDl A & B b2 51,
F==2kx =+ &)



http://toitemita.sakura.ne.jp

PR B I RELE 2014 B MHMEESRETE

&)
M LEROE DT 7 40 A LTEZIZIE ) 3D h 0 070,

P
A —kx —kx B
[ l
O X
il?7¢w%
WEREHN 2k DIEH
\l/ P
~2kx
(@) X
»H DN,

WEREHN 26 DX

. |

—2kx

0)

|

Wik P OEE RN, ma=F 125,
'(— a)zx)z—ka (@>0) kY,



Yy P E ERELE 2014 B AR E R T http://toitemita.sakura.ne.jp

R
YR OEB F IR ma = FIZBWT,
F MLl x OBk cRasns L &,
Z OMIEOERTHIREE TH D,
)
HEE) T RN F—DRKE
|v| =|aa) cos a)t| =aa)|cos a)t| (c0>0) LY, at=nz (=012, )DL X,
|v| TR KB aw & & 5,
£,
K:%m-(cza))2 =%maza)2 =%ma2 fn—k:kaz
F72, ZOEEDx=asinwt=asin(nz)=0
DR AT,
x=0 DB THEE TRV F— TR KB =ka* 2D, =« - (&)
PLE T RN F— DR
RAFINZE, (XROBIEN DHRIZNG,
(LT R F— 1T LD ET XL —Th D,

I ARBIERER=2k £V, METRLF—=—(2k)* =k’

N | —

|x|=a|sina)t| X, a)t:mz+% (n=0,12,---)D & X, |x| IR KIEa % & D05,

P ZZIX—DEKRIBU =ka®
Lo T,
x=ta ONE CMNETRVX = IR KEU =k’ %2 L5, -+« « (&)



